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wagon shortage for movement of their
products; and

(b) if so, what are the reasons thereof ?

THE MINISTER OF STATE IN THE
MINISTRY ofF RAILWAYS (DR. RAM
SUBHAG SINGH) :* (a) and (b) There has
been some shortage in the supply of
covered wagons for the clearance of
cement and chemicals in Saurashtra with
the commencement of the monsoon. This
has been due to heavy movement of
imported foodgrains and increased
demands by the cement factories on
account of closure of sea route. Action
has been taken to increase supply of
wagons in Saurashtra area.

There has been no shortfall in the
supply of wagons to factories in Madras.

ABOLITION OF STATUTORY CONTROL ON
STEEL

294. SHRI B. N. MANDAL : Will the
Minister of IRON AND STEEL be pleased to
state :

(a) whether it is a fact that a Study
Team have recommended the abolition of
statutory control on the distribution jnd
prices of all categories of steel in the
country; and

(b) if so, the action taken by Gov-
ernment on the recommendation of the
Study Team ?

THE MINISTER of IRON AND STEEL
(SHRIT. N. SINGH) (a) Yes.. Sir,

(b) The recommendations of the Study
Team are under consideration of the
Government.
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+[SCHOOLS RUN BY WESTERN RAILWAY

295. SHRI V. M. CHORDIA : Will the
Minister of RAILWAYS be pleased to
state :

(a) the number of schools of each
standard which are being run by the
Western Railway at present; and

(b) the names of the places on the
Western Railway where new schools are
proposed to be opened and of those where
the present schools are proposed to be
upgraded under the Fourth Five-Year
Plan*?]
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